Honors Math 3 Cumulative Test Review

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Which two lines are parallel?

I Sy=-3x-5
. y=-1-3x
. 3y-Z2x=-1
a.land Il b.land Il c.lland Ill d. No, two of the lines are parallel.

2. Arethe linesy =—x— 2 and 4x + 4y = 16 perpendicular? Explain.
a. Yes; their slopes have product —1. b. No; their slopes are not opposite reciprocals.  c. Yes; their slopes are
equal. d. No; their slopes are not equal

3. Give the slope-intercept form of the equation of the line that is perpendicular to
7x + 3y = 18 and contains P(6, 8). _ _ _
_ 3 _ 3 18 _ 3 38 _ 3
a.y—6—7(x—8) b.y= X+, Cy= 7x+ 7 d.y—8—7(x—6)

Short Answer

Write a system of inequalities for the graph.

Simplify the difference.
5. (4w’ — 4w —8) — (2w? + 3w — 6)

Simplify the product.
6. 3p*(4p*+ 7p®+4p+1) 7. 7a%(5a° - 2b°)

Solve the equation by completing the square. Round to the nearest hundredth if necessary.



10.

12.

14.

16.

17.

18.

20.

22.

24,

25.

26.

P ir-5=10

Use the quadratic formula to solve the equation. If necessary, round to the nearest hundredth.

2ol —dfig+ 252 =10

Find the number of real number solutions for the equation.
+0r—1=0 11. #-18=10

Simplify the rational expression.

4x — & -9x
4x + 20 13. x— x2
Multiply.
x:—1é Tx yi -8 Ly
: 15. -
6x T+4 ~2y ¥+ 3
Divide.

(~10m® — 4m® — 12m%) = Zm*
(fx2 — 132+ 2+ (92— 2)

Simplify the expression.

{(—6i)(—6i) 19. (2 + 50i=1 + 58)
Solve the equation.
x+ 10 -7=-5 4
21, 4(3-x7F -5 =59
Use the Quadratic Formula to solve the equation.
4x* —x+3=10 23, -2x* +x+8=10

Divide using synthetic division.
ZE+d-llx+ 320 -6+ x)
Find any points of discontinuity for the rational function.

r=-3

2 rfx-7

Simplify the rational expression. State any restrictions on the variable.
gt + g + 4 . at - 12 + 30
g — 5 — 24 SRt -t



28.

29.

30.

31.

32.

33.

37.

38.

39.

40.

Multiply or divide. State any restrictions on the variables.

i+ 2 r+4

=1

4 dx -5
Add or subtract. Simplify if possible.

B —2bh- g f
Bryb-2  b-1

& -0d+20 d-2d-38
+
dt—3d— 10 4%+ 4d - 32

Simplify the complex fraction.

4

X+ 3

1
—+ 3
x

Solve the equation. Check the solution.
a 2 1

+ —
a* -3 a-6

&+ B

The width of a rectangle is 33 centimeters. The

perimeter is at least 776 centimeters.

a. Write and solve an inequality to find the length
of the rectangle.

b. Write an inequality to find the area of the
rectangle in square centimeters.

Add or subtract.

x+3 x-35
x-4 X+ 2

Write the number in the form a + bi.

-4 w10

Find the zeros of fix) = (x + 32(x — 5% and
state the multiplicity.

1 1
5 3

(—2x+ 615 =[-8 + 10x)

34.

35.

36.

41.

42.

Write the polynomial in standard form.
49-g’+3g°-2

Match the expression with its name.
6x*—9x +3

Simplify the sum.
(4u® + 4u% + 2) + (6u° - 2u + 8)

Describe the vertical asymptote(s) and hole(s) for
(x = 5i(x—-2)

the graphof y = ————.

(x—2(x+4)

Write a recursive formula for the sequence 8, 10,
12, 14, 16, .... Then find the next term.



1

43. Write an explicit formula for the sequence %
1 & 3 .
RTIRT RS Then find .

44. Line ris parallel to line t. Find m.25. The diagram
is not to scale.

45. Find the values of x and y. The diagram is not to
scale.

)

1
=3\ +8)° /

7

74°

46. Complete the statement. If a transversal intersects
two parallel lines, then angles are
supplementary.
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4, y=x-2

¥ E-3x—-0

2w2 — Tw — 2

12p® + 21p” + 12p° + 3p*
35a° — 14a%°
1.19,-4.19

9, 14
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10.
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|
[

12.

=]
Lh

W+

13.

=1
Tz -4
fi

-5y - 3)
15. —

16. —5m3 — 2mt — fAm2

17. Zx -3 -

14.

18. -36

19. -7+ 58
20. -6

21. 5,11

22.

23.

24. x2 - 3x+7F, R-38
25, x=1,x=-7
g+ 8

26.

q_g;g#—iq#%



27.

28.

29.

30.

31.

32.
33.
34.
35.
36.

37.

38.
39.

40.

41.
42.
43.
44,
45.
46.

-6 . :
5 2',?2#11\/5,[1#1'\/2

at -
(x+x2:l{J;+ 5), re -4
b - 10
B-1
2d° + 8d - 23
i+ D + )

4x
3x% + 10x + 3
-9

2(33) + 26 2 776, £ = 355, A = 33(355)

—g*+3¢%+4g9-2

cubic trinomial

10u® + 4u° — 2u + 10

X3+ lax - 14

x+ 2ix -4

10 + &i

-3, multiplicity 2; 5, multiplicity 6
7

6

asymptote: x = -4 and hole: x = 2
d, =d,_;+ 2, where a; = §;18
Not Arithmetic

135

X=77,y=57

Same Side Interior Angles



